
TITLE: Dimensional Drawing, 1529L

REV: K
DATE: 02/13/2015

MS600155
DIMENSIONS ARE IN MILLIMETERS

1. PIVOT DISPLAY TO DESIRED ANGLE.
2. ROTATE KNOB ~1 TURN CLOCKWISE TO LOCK.
3. ROTATE KNOB ~1 TURN COUNTER-CLOCKWISE TO UN-LOCK.

FIGURE 2: TILT LOCK OPERATION

BCSCANNER OPTION

REPLACEMENT STAND
P/N E252977 (SHORT).
COLOR: GRAY

312

137

69

17

304
(ACTIVE AREA)

355

393

287

330

228
(ACTIVE AREA)

264

54 200 78

75

34 75 57.2

 MIN.
CABLE CUT-OUT
44

 
          

SHEET 1 OF 4                  
 

FIGURE 1: SHORT BASE MOUNTING PATTERN

TILT 30�$ FROM VERTICAL

TILT 75�$ FROM VRTICAL

SEE FIG. 2
FOR TILT LOCK
OPERATION.

CUSTOMER DISPLAY ACCESSORY
(VFD, 2X20 CHARACTERS)

BIOMETRIC ACCESSORY

MSR ACCESSORY
STANDARD LEFT MOUNT (AS SHOWN),
ALSO AVAILABLE AS RIGHT MOUNT.

THREADED FOR M4
X4



TITLE: Dimensional Drawing, 1529L

REV: K
DATE: 02/13/2015

MS600155
DIMENSIONS ARE IN MILLIMETERS

REPLACEMENT STAND
P/N E930466 (TALL).
COLOR: GRAY

222

348

60

222

49

203

35

 
          

SHEET 2 OF 4                  
 

FIGURE 3: TALL STAND

TILT: -5�$ FROM VERT. TILT: 90�$ FROM VERT.



TITLE: Dimensional Drawing, 1529L

REV: K
DATE: 02/13/2015

MS600155
DIMENSIONS ARE IN MILLIMETERS

FIGURE 7: VESA PLATE (PIP# E295293
WITH 4 M4X16, CROSS, RECESSED PAN HEAD WITH

   CAPTURED WASHER.

FIGURE 8: KENSINGTON LOCK DETAIL

REMOVE STAND AND
INSTALL PLATE TO ALLOW
MOUNTING SURFACE TO BE
FLUSH WITH THE BACK COVER
USING M3X10 PAN HEAD SCREW
PROVIDED IN THE VESA MOUNTING PLATE KIT.
WARNING: DO NOT BLOCK MONITOR VENTILATION.

FIGURE 4: TOUCH PLUS ANY ACCESSORIES 

FIGURE 5: TOUCH ONLY

75

75

105.4

 
          

SHEET 3 OF 4                  
 

LOCK RECEPTICAL
IN BACK COVER

KENSINGTON CABLE LOCK
(BY OTHERS)

AC POWER

DC POWER

AUDIO IN
2.5MM JACK

TOUCH/VIDEO
LED STATUS

DVI-D 

ANALOG

USB IN

USB OUT (POWERED)

SERIAL TOUCH
OR USB TOUCH



TITLE: Dimensional Drawing, 1529L

REV: K
DATE: 02/13/2015

MS600155
DIMENSIONS ARE IN MILLIMETERS

FIGURE 9: TALL STAND MOUNT OPTION

FIGURE 10: TALL STAND MOUNT TEMPLATE

FIGURE 11: TALL STAND WALL MOUNT

FIGURE12: SHORT STAND WALL MOUNT

 
1.  REMOVE THE FOUR SCREWS (C) IN ORDER TO SEPARATE
     THE STAND FROM THE MONITOR.
 
2.  ROTATE THE MONITOR 180 �$ (SO MONITOR WILL NOT BE
    UPSIDE DOWN WHEN MOUNTED IN THE POSITION SHOWN).
 
3.  REINSTALL THE FOUR SCREWS (C).
 
4.  ROUTE CABLES THROUGH CUTOUT (IF APPLICABLE) AND
    MOUNT MONITOR TO WALL USING THE TEMPLATES
    PROVIDED.

MOUNTING TO A WALL:

100

75

88.9(3.5")

100

75

124.56

75

(0.22")
X4
5.5

CABLE CUT
50

 
          

SHEET 4 OF 4                  
 

SEE FIGURE 1, PG. 1 
FOR WALL MOUNT TEMPLATE

1. REMOVE STAND BACK COVER AND 
   AND MOUNT PLATE (A).
2. SECURE MOUNT PLATE TO SURFACE.
   (SEE TEMPLATE, FIG. 10)
3. SLIDE STAND ONTO MOUNTING
   PLATE AND SECURE WITH
   2 SCREWS (B).
4. REPLACE BACK COVER.

SEE FIG. 9 AND TEMPLATE FIG.10
FOR FRONT MOUNT OPTION.
SEE TEMPLATE FIG.10 FOR REAR MOUNT OPTION.

STAND BACK COVER

A

B

THREADED FOR M4
X4

SLOT LENGTH ALLOWS FOR:
- 3.5" J-BOX STANDARD
- 4" J-BOX STANDARD
- 75MM VESA
SLOT WIDTH =5.5MM(0.22")
X4

C


	Sheet 1
	Views
	main_view
	right_18
	right_20
	new_view_22
	bottom_18
	main_view
	main_view


	Sheet 2
	Views
	main_view
	right_14
	left_14
	main_view
	main_view
	top_30


	Sheet 3
	Views
	main_view
	new_view_40
	main_view
	new_view_72
	new_view_74


	Sheet 4
	Views
	main_view
	main_view
	main_view
	main_view
	main_view
	main_view
	main_view



